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The figures n the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

RotpiR oo frare T for -

(a) Which of the following pairs is not perfectly
matched?

(i) Ghost in machine—Gilbert Ryle
(ii) Verification principle—
Logical positivism
el Afe—oPy ererwam
(iii) Philosophical investigations—Moore

Philosophical investigations—d
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(b)

(c)

8A/244

(2)

(iv) Obijective idealism—Hegel
D SRAM—CL

“Language has many functions.” The
philosopher associated with this view is

“omr Rftm e R 1”9} TOOR wTe
wie AeE (2R '
(i) Russell
qIC=e
(ii) Moore
b
(iii) early Wittgenstein
o TRRLoRERA
(iv) later Wittgenstein
AR TRCA BT

( Choose the correct alternative )

(o Rescs! M Tferedr )

Can a fact be either true or false according
to Russell?

@R WO (I U ) q Y 29
A1CAC ?

( Continued )



(3)

(d) According to Russell, a proposition is a/an
MR O (ICAT b TR 95
(i) simple symbol
e 2SI
(ii) complex symbol
Hlbe 2Ol
(iii) incomplete symbol

Kb LS

( Choose the correct alternative )

(wm R afo Sferear )

(e) Which one of the following is true?

AT (O] % ?

(i) Moore is an idealist.
T4 R QORI STEEI |
(ii) Moore is a common sense philosopher.

TR QRIS MYRT A AN S
e |

(iii) Moore refutes philosophy of sense data.

T PR TS W IR S
& PR
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(4)

(f) Language, Truth and Logic is the chief
work of

Language, Truth and Logic @& &F-
SR 24 T671 2

(i) Russell
qMe=s

(ii) G.E.Moore
f& 2 19

(iii) Husserl
2l

(iv) Ayer
SEE

( Choose the correct alternative )

(= Rescor A Sferear )

(g8) The ‘official doctrine’ is the theory that
PR O T o ¢F ©F 'O

(i) mind and body are the same thing
OrR WIF T T
(ii) mind and body are the separate entities

CT2 ¥ ¥ 01 73T e
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(S)

(iii) other mind doesn’t exist
R ToY G 713

( Choose the correct alternative )

(= Remco afe Sferear )

2. Answer briefly the following questions as
directed : 2x4=8

ot were fran epieaRe o Ted foe

(a) Match the following four pairs correctly :
Yoxd=2
weTe i @R wIfko! wate e

(i) Vienna Circle—Picture Theory
e vo—foama og A1 afsRmm

(ii) Wittgenstein—Schlick
SRR

(iii) Esse est percipi—Russell

aersce oS Ruam—an=eE

(iv) The problems of philosophy—Berkeley
T TP
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(6)

(b) What is subjective idealism? 2
D S w2
(c) What is family resemblance? 2
R 0 2
2

(d) Whatis a fact, according to Russell?

IMZE Tr© © A 2

3. Answer any three of the following questions :
5x3=15

weTs i erprpes R e ol Ted for :

(a) In what sense philosophy is said to be a
therapeutic enterprise? Make a critical note
in brief.

R wefe wfte g7 FammE A1 PR
I T T I @ W2 e b

TS COrt forr |

(b) Write a short note on Vienna Circle.

S vas Ra «ft w3 G fordn |

(c) What is linguistic philosophy?
SR wiq Ifecar B Jreman =02
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(d)

(e)

(1)

(7))

Bring out Wittgenstein’s account on
‘Language and Reality’.

THOMBRTT SRl W eI’ R5R S9RCGRT |

How did Moore distinguish between ‘blue’
and ‘the consciousness of blue’?

A’ WE NAR GO AETS WA FTIHCI
A1 Rera FRfXe 2

Briefly discuss Ryle’s ‘category mistake’
with the help of suitable example.

TR eI RS TR ‘e Raf
CTR’F RCH 5 e SRR |

4. Answer any three of the following questions :

10x3=30

TS il enpTgEs R e fofbm Tes R -

(a)

(b)

8A/244

Bring out any five characteristics of Analytic

Philosophy. 2x5=10

Romaee wfw R on  <wor | i
SIS |

Explain and examine Russell’s philosophy of
logical atomism.

WL O RAEH T Romaere =i
SSRCGHAT |
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(8)

(c) How did Moore refute Berkeley’s dictum
‘Esse est percipi’? Discuss. 10
I IRFR ‘orerme S R Tt
CCMCS AT RIS 7 AL F47 |

(d) Why does Wittgenstein compare words with
tools? What are the various functions that
we perform with language? Explain after
Wittgenstein. Sti=10
CREEERE e R RN @S oo
3Rtz 7 SHR sREe wIf sWew 4 f[fen a-
@[ & 2 TRGeoEAzRag TP T 41 |

(e) Give a critical account of Ryle’s refutation of
Cartesian dualism. 10

e FICORT Caeaw 49 Ry 9 Roryere
T SAISCCIE |

(f)  Give an account of Wittgenstein’s notion of
language game. 10

T2BCsZRA Ol (RET YIRel oS R

* K K
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